Model’s Answers

A.  Problems

1. The Firm needs to decide whether or not to pursue new state of the art prime contracts.

2. Management has not reached a consensus about projects

3. Management has listened to each person’s viewpoints prior to making a decision.

B.  Causes

1. Profitability has been declining, new contracts will boost firm.

2. Market share has declined

C.  Systems affected:  Entire organization will be impacted by either decision.


D.  Alternatives

1. Pursue prime contracts

2. Try to remain profitable as subcontractor

E.  Recommendation


Pursue prime contracts.  Without taking risk firm will not be able to grow.  Without innovation and creativity the firm will be stagnate

